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Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Fill in the blanks of the following
(any seven) : 1x7=7
e AR e fim/a@ R RT W

© (R e Hreb)

(a) Write a definition of statistics.

S{f37e7 R 91 et o711 |

(b) _____ is the most frequently occurring
score in a distribution.

93 Remre 54(fes RIS @RI A (xR

22A/1123 ( Turn Over )



(2)

(c) is a figure which indicates how
many times a specific score repeats
itself in a given class interval.

__ Ctmr 9b WY, RA @A 9o o
HEHRER T3S e «b1 A FaRfer ke
Aot 33 |

(d) Round off the following number to two
decimals :

Serd IO 761 IS F=el SieFIdS (round
off) 41 :

97-82556

(e) What other name can be used in place
of OY axis?

OY S e &+ & A I9ge IR Nk 2

() Under normal conditions,
represents its group in the most reliable

manner.

Foies «IfkfEfee, 9q 3 AR 03 ¥ we

31 TR wigd ASIcsren AfSMHieg 3¢
(g9 The word ‘standard deviation’ was

coined by .

‘Standard deviation’ 30! g o5

e |
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(3)

means interrelationship between
two or more variables.

3wy {z0x R I oo Ry b
31 SRR TSR WB=od |

)

(i) Normal probability curve is
shaped.

T SRSIfdel I e |

() The curve that is more peaked than
normal probability curve is a
curve.

AN WISl IFed JEF @18l IF (XX
IF

2. Answer any four of the following questions :
2x4=8

©od e R crean wifRbr e fumn

(a) Mention two advantages of frequency
distribution table.

IRIRS e eI 101 A1 Tead F41 |
(b) Write two advantages of central

tendency.

I 2RTOR Yo TRy forn |
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( 4)

(c) What is the formula to calculate median
from ungrouped data, if data are even?

SRS AR T4 A7 Sfacht s, e 32
QPR AW IV T |

(d) Write two uses of mean.

ST 701 IR 3w forn o

(e) The median and mode of a distribution
are 2825 and 25'55 respectively. Find
out the mean.

QA 9y ResR g9 9F ILed A
YIFCH 2825 |F 25-55 | 578 T Bfeqed |

(/ Find the mode from the following
scores :

THAY AR *[1 IZAF fersd
10, 15, 10, 18, 19, 18, 20, 22

(g) In a test, the mean of marks for a group
of 50 students is SO0 and that on the
same test the mean for another group of
30 students is 60. Find the combined

mean of these two groups.

AT o1 *R_RrF 96l S50FAm e o’
TIAA TS WA 50 WF GTI0! HIArFCSR W
gB1 30w FrFITR 7o T9I1 TS R 60 |
7 HOR I LS MG eraa |
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(5)

(h) If Q3 =86:37 and Q=12-18, find the

value of Q.
M Q3 =86-37 WF Q=12-18 W, QI T
Tferean |

3. Answer any three of the following questions :

5x3=15
o PR R e foferR Tee i :
(a) Mention five characteristics of mean.
sI%3 #1051 CaPBy BeEy 41 |
(b) Write five general principles of drawing a
graph. .
EAfod TFe IR A A0 MR RS
fera o

(c) Write about the drawing procedure of
frequency polygon.

IR ITTEA FEA TS =9 141 |

(d) Calculate average deviation from the
following scores :

o AFPTER <[ 1% Rt Tferea

20, 18, 42, 46, 50, 64, 75
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(6)

(e) Find out the standard deviation of the
following scores :

TR AFPITR [ I3 RpifS e :

8, 9, 10, 11, 12, 13, 14, 1S

(/) Ranking of 7 students in two subjects X
and Y are as follows :

7 & Predics R X 5% Y oS 991 192
CLCRLC IR E L

X : 4 3 6 S 1 2 7
Y : 3 1 4 5 2 6 i
Find out the coefficient of correlation

between the marks of subject X and
subject Y by rank difference method.

TR N1LF Taford gy X JF Y3 9931 I
BN Ay 91 |

(g9 Mention five characteristics of normal
probability curve.

TN TSRS I 41001 (IPTEy Sead +41 |

(h) In a class test, a student has secured
S0 marks. The mean of the group is 60
and standard deviation is 6. What is the
percentile rank of the student?
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(7))

ORI Predic o1 W AR[NFS MR TR/
T2z 50, CIAGBE 518 TR (=R 60 WF S
RpfS =z 6; Frafs@mdR o = &

237

4. Answer any three of the following questions :

10x3=30

ol P R @ fofAtm er w4
(@) Find out mean from the following
distribution :
o R =1 1% A7 =41
Class interval Frequency
CIN T IR
45-49 2
4044 3
35-39 2
30-34 6
25-29 8
20-24 8
15-19 7
10-14 S
’ 59 9
N=50
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(8)

() Draw a histogram from the following
table (use graph paper) :
oA OIPPR °[1 SEOhE 9Bl SEq F41 (1]
FI5T% IRTA AN :

Class interval Frequency
1 wEArE IRERE]

85-89 8
80-84 9
75-79 10
70-74 5
65-69 8
60-64 4
55-59 3
50-54 9

N =56

(c) Find out standard deviation of the
following distribution by using long
method :
wrq femr |9 WY ol IR IR TR
|3§l|\9 g ¥ :

Class interval Frequency
C1 wEIAT R
30-34 2
25-29 2
20-24 6 .
15-19 8
10-14 2
N=20
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(9)

(d) Find out quartile deviation from the
following distribution :

oo Remed «131 o9¥e Rpfs Tferea :
Class interval Frequency
CI! ST SIECIE)

35-39 9
30-34 8
25-29 6
20-24 10
15-19 8
10-14 2

N=40

(e) Find out P3o and P;5 of the following
distribution table :

el Ao Offid@ o[l Py SF Ppg¥ WA
Sferear -

Class interval Frequency
IR ST RIS
50-54
4549
4044
35-39
30-34
2529
2024
15-19
10-14

O O NN 00 00 OV b W N

N=250
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( 10 )

( Find out the percentile rank of 24 and
55 of the following distribution table :

e IRAQROl Romy ot s[4 24 W<

55 TR O ¥ Sfeed :

Class interval
I SEAET

80-89
70-79
60-69
50-59
4049
30-39
20-29
10-19

Frequency
SIEAC/E [

2

N W A N

20

(g9 Compute the coefficient of correlation by
product moment method between the
given two sets of scores :

QIFH Yo RO Awad WA N PO A

IATFE QINT e :

X : 65 60 50 40 30 20 80

Y : S50 55 80

22A/1123
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( 11 )

(h) The percentile rank of a student is 80 in
a test in English. The mean is 50 with
standard deviation 7. What is the marks
secured by the student?

IRE [RER QA 9ore ol @1 e
QIRIPR [T ¥ (X2 80, Fredfiea «
YO TS AT (IR 50 WE wef Rpfs 7;
e RRIFIE e 733 i3z 2

* k x
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